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. Continuous yima yaiat (a3l KN g(n)= 1[C~S +J'f(t)dt}
h 0

. Discrete phaiia yaiat (a3 RCSK] g(n)zi[C—S+Zf(t))
n
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1ol) Jgtall 8 Ao ga il i 8 DI Aisle gy Bale) Aagh g Adlpeal) A8 il 1Y) 1 1l
Year (1) 1 2 3 4 5 6 7 8

Maintenance f(t) 900 1200 1600| 2100| 2800 3700 4700 5900

Resale value (S) 4000 2000, 1200 600 500 400 400 400

L7000 % g susal LSl gy e o Ll ¢ LSLal) Jlagiad Jlaball (e o8 A sl B
C =7000 : Jall

S | C-S| fi)y | 2f®) g(n)

4000 3000 900!  900| 3900

2000 5000 1200] 2100| 3550

1200| 5800 1600| 3700| 3166.7

600 6400 2100| 5800| 3050

500 6500 2800 8600| 3020 —mini.

400 6600 3700 12300 3150

400 6600\ 4700 17000 3371.4
400 6600 5900, 22900| 3687.5

A Al Al A Aslal) Jlasia) Juad) e 1M

SYRIENT Y E N O P

101



L 200 s AN Ll b el Ay s 9000 s 5 Sl o) yd AdIS: 2 (Jba
o) oL 4. ela Y Sl pee Juabl aas ¢ g Jlud 2000 )siey 4RI 33
- Jaad Ladie an e g (ud Aslal)

: Jad)

c-S | fo) | sfw g(n)
9000 200 200 | 9200

9000 |2200 2400 | 5700

9000 | 4200 6600 | 5200 — mini.
9000 | 6200 | 12800 | 5450

9000 | 8200 |21000 |6100
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N;=) N ,P_,,=N,P,+N,P_,+N,P_,+...+ N_, P,

: Average life of items (AL) 4t} 3aa ) jae Jara —

AL = iip,.
i=1
: Average failure per period (AF) no Ak 8l B Jhal) Jua -
ar =2
AL

: Cost of individual replacement ( CIR ) 4alii) saa 5 S8 g3 Jladuy) 44K -
CIR=C,*AF
:Average cost group replacement per period (i)s i Js = Laadl Jlasuy) A4S Java —
C,*N, +C,*iNj
ACGR, = i i
siay JHB ACGR sl Jaind) 48l Jara aa CIR 2 Al Jlasial) 481K o s 4 e
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End of week (i) 1 2 3 4 5 6 7 8 9] 10| 11

Prob.Of failure (P;) | 0.01 [ 0.03 | 0.05| 0.07 | 0.10 | 0.15] 0.20| 0.15| 0.11 | 0.08 | 0.05

S St 0.5 Lelaad) Jlagiuy) Ailsy |l 2.25 & a8 Jlaiay) il o) cuale 13)
33 2y 1000 A dariival) claagl) 2 ) Lale il ey Adabuw daa L Al Baag

Ny= 1000
N;=Ny*P;=1000%*0.01 =10
N, = Ng*Py + N;/*P;= 1000%0.03 + 10% 0.01 = 30.1
N; = Ny*P; + N/*P; + N,* P; = 1000%0.05+10%0.03+30.1%0.01=50.6
N4 =N()*P4+N; *P3+N2*P2+N3*P;
=1000%0.07+10%0.05+30.1*0.03+50.6%0.01=71.9
Ns =N()*P5+N1 *P4+N2*P3+N3*P2+N4*PI
=1000%0.10+10%0.07+30.1*%0.05+50.6%0.03+71.9%0.01=104.4
Ng =Ny*Ps+N;*Ps+ N;*PAN;*P3;+N #*P>,+N;5;*P;
=1000%0.15+10%0.10+30.1%0.07+50.6%0.05+71.9%0.03+104.4%0.01=158.8
N7 = Ny*P+N; =I=I:’,s'l']\b>!=P_»',-+ZV3>:<P41+A;’41*1)3+EV5$I)2'HV6*P;
=1000%0.2+10%0.15+30.1%0.1+50.6%0.07+71.9%0.05+104.4*%0.03+158.8%0.01
=216.4
Ng =N9*P3+N1*P7+N2$P6+N3*P5+N4*P4+N5*P3+N6*P2+N7$P;
=1000%0.15+10%0.2430.1%0.15+50.6%0.1+71.9%0.07+104.4%0.05+158.8%0.03
+216.4%0.01 =178.8
Ng = Ny*Po+N; *P3+Ng*P7+N3*P6+N4*P5+N5*P4+N6*P3+N7*P2+N3*P;
=1000%0.11+10%0.15+30.1%0.2+50.6%0.15+71.9%0.1+104.4%0.07+158.8%0.05
+216.4%0.03+178.8%0.01=155.8
N;g =N0$P;0+N1$P9+N2*P3+N3*P7+N4*P6+N5$P5+N6$P4+N7*P3+N3*P2+N9*P;
=1000%0.08+10%0.11+30.1%0.15+50.6%0.2+71.9%0.15+104.4%0.1+158.8
*0.07+216.4%0.05+178.8%0.03+155.8%0.01=145.8
Ni; = No*P1+N1%P1g+N>*Po+N ;¥ Ps+N ;*P74+N5*Ps+N s Ps+N 7P 4Ng*P;
+N9*P2+N10$P;
= 1000%0.05+10%0.08+30.1%0.11+50.6%0.15+71.9%0.2+104.4*0.15+158.8
*0.1+216.4%0.07+178.8%0.05+155.8%0.03+265.8%0.01=139.1

11
AL=Z£*P,. =1%0.01+2%0.03+3%0.05+4%0.07 +5%0.1+6%0.15+7*0.2+8%0.15

= +9%0.11+10%0.08 + 11* 0.05 = 6.84
_ N, 1000

= =——=146.2 and CIR=C,* AF =1.25% 146.2 = 182.75
AL 6.84
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C,*N,+C,* ) N,

End ;){)week ACGR= C i : ; :

1 1000*0.5;10*1-25 _512.5

2 1000 * o.5+(1;)+30-1 )*1.25 _ s 06

3 1000*0.5+(4%1+50-6)* L2 _ 20446

4 1000*0.5+(9(Z7 +71.9)*1.25 _ s o)

5 1000 * 0.5 + ( 1625-6 HIRAITLD _ engs s

6 1000$0_5+(26;+158.8)"‘I.25 D

7 1000% 0.5 +(4257-3 +216:4)% 135 15k 11

8 1000*0.5+(642;+178.8)* 1.25 _ 19078

9 1000 * 0,54,(32;”55.8)*1.25 — 191.22

10 1000 0.5+(97?;9+145-8)* 125 _ 190.33

11 1000*0.5+(112f1.6 +139.1)%1.25 _ 00 o3

(CIR = 182.75) 53 A J)aiinsy) 481> (ACGR5=166.76) o\ead) J)asiadl A8 J8) Cosesy
Lonalll) £ ) Aled b elaad) Jadul) &) sa) Jdaball (peb 1Y
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Aa ala s e A 0 g5 IS duling Wguand (o Ldladia) e Yoy clanall o3 £3a) (Sanl
L i) clabew 34 5jEa) Jhall a8 gial) cdgl) of a8 gial) CaLSH) z3lall) oda B andind
. daglia b pee DA clarall Jlal) Ldlaia) ¢e ol da i lanall Alual
: Cost of maintenance (CM ) (plaill) dilual) 4815 Jaa

_ Maint enance Cost per wunit (MC) 4
Expected life per wunit (EL) ’

CM
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